op
e

P {

Ml B RaT
2024 £ 10 H BZHF HFEF A eEsE—% R
VAl

GRFEMAE 00593)

FEEI:

1. ZiXEE 45 54, ERER R IFFEEBEK—E.

2. RiXEHAFIS, B—RNHAEER, FMHHIFEER.

3. NEZUIIRRBIRFEZEDTF (K) BHEMELEE, ZEERELXTNY.
4. AEWRS. EEBMALFER 2B HBE, PERIULIEREEFEEFE.

FE—1 REFEH

—. BIRER: KX 150, S/0E 23, #3045 ESNEIIHAAFETF
QE-NERTEHEEERN, HFHEE. WRE, 8/08E 15 PefEEet
8, BERERBH—E.

Item I:

1. Who is the speaker?

A. A manager of a small supermarket.
B. A manager of a big supermarket.
C. A manager of a small branch of a big supermarket.

2. What does he mainly talk about?

A. The prevention of shoplifting.

B. The causes of shoplifting.

C. The psychological trend of shoplifting.
3. Who constitutes the great part of shoplifters?

A. People in their early thirties.

B. People in their twenties.

C. Teenagers in groups.
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4. Which of the following methods is not used by the manager in preventing shoplifting?
A. Putting chains or alarms on goods.
B. Hiring store detectives.
C. Using closed-circuit television.
Item II:
5. Who is the telegram for?
A. Jean. B. Helen.
C. Allen.
6. Why does Helen ask Jean to open the telegram?
A. Because she hates opening telegrams.
B. Because her hands are full.
C. Because she knows Jean likes opening telegrams.
7. Why does Jean love opening telegrams?
A. Because she wants to know the bad news herself.
B. Because she is sure that telegrams mean something exciting.
C. Because she is a nosy person.
8. What is this telegram about?
A. Jean has been chosen as Nurse of the Year.
B. Helen has been chosen as Nurse of the Year.
C. There is some good news for Jean.
9. What will follow the telegram?
A. Aletter. B. Another telegram.
C. Acall
10. What is Helen’s response towards the news?
A. She is sad. B. She is excited.
C. She cannot believe it.
Item III:
11. The names of the host and hostess are
A. John and Helen B. Henry and Helen
C. Henry and Mary
12. Mr. Adams wants something strong to drink because
A. he likes wines very much

B. his wife will drive him home

C. his wife gives him some suggestions
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13. All the guests are in the
A. kitchen B. study room
C. sitting room
14. The guests are invited because
A. the hostess has entered a competition
B. the hostess wants to celebrate her birthday
C. the hostess has won a prize from a competition
15. According to the hostess, actually did all the work.
A. she herself B. her husband

C. Mr. Adams
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Item I:

16. At the beginning of the story, the spaceship flew around the new planet several times
because Adam and Eve wanted to take pictures of the new planet.

17. After they landed on the planet, Adam and Eve did not go out of their spaceship because
they didn’t have enough oxygen.

18. Adam and Eve found no intelligent life on the planet.

19. They stayed on the planet for several hours and returned to the earth successfully.

Item IT:

20. Martin has never regarded friends as particularly important probably because he comes
from a big family.

21. Jean believes love is more important than friendship.

22. Robert has lived in many places.

23. Robert usually loses contact with his friends whenever he moves away.

24. Robert likes to contact his friends by letters though he doesn’t write good letters.

25. Robert believes that the friendship between him and his friends is just as strong as before

though they are not living in the same area.
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Twins
Name: Laura and Sarah
(1) Sex: Female
(2) Similarities: Both blonde with (26)
27
(28)
(29)
same shoes.
(3) Differences: a. Sarah has (30) and 3D
but Laura is single.
b. When Sarah was washing up, Laura was (32)
c. When Sarah was knitting, Laura was (33) for the
school newspaper.
d. When Sarah was (34) , Laura was in Panama,
(35) for United Information Services.
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